

Exercise 1.3

2. $y^3 y' + x^3 = 0$

Sol:- $y^3 \frac{dy}{dx} = -x^3$

$$y^3 dy = -x^3 dx$$

$$\int y^3 dy = - \int x^3 dx \Rightarrow \frac{y^4}{4} = -\frac{x^4}{4} + C$$

$$y^4 = -x^4 + C/4$$

$$\boxed{y^4 = -x^4 + C_1}$$

By Substitution:-

Put $y = u \Rightarrow y = un$
 $\frac{y}{n}$

$$(un)^3(u'n + u) = -x^3$$

$$u^3 n^3 (u'n + u) = -x^3$$

$$u^3 u'n + u^4 = -1$$

$$\frac{dy}{dx} = u'n + u$$

By putting values in (A)

$$u'n + u = -\left(\frac{1}{u^3}\right)$$

$$u'n = -\frac{1}{u^3} - u \Rightarrow u'n = \frac{-1 - u^4}{u^3}$$

$$\ln(1+u^4) n^4 = C$$

$$(1+u^4) n^4 = C \quad \because e^C = C$$

$$(1 + y^4/n^4) n^4 = C$$

$$n^4 + y^4 = C$$

$$\boxed{y^4 = -x^4 + C}$$

Ans

dx

$$\frac{dy}{dx} = \frac{-x^3}{y^3} \rightarrow (1)$$

$$\text{Let } u = y/n$$

$$y = un$$

$$\frac{u^3}{1+u^4} = -\frac{1}{n} dx$$

$$\frac{1}{4} \int \frac{u^3}{1+u^4} = -\int \frac{1}{n} dx$$

$$\frac{1}{4} \ln(1+u^4) = -\ln n + C$$

$$\ln(1+u^4) + \ln n^4 = C$$

$$\ln(1+u^4) n^4 = C$$

$$3 \quad y' = \sec^2 y.$$

$$\text{Sol:-} \quad \frac{dy}{dx} = \sec^2 y.$$

$$\int \frac{1}{\sec^2 y} dy = \int dx. \quad \Rightarrow \int \cos^2 y dy = x + c$$

$$\frac{1}{x} \cdot \frac{1}{2y} + \frac{1}{4} \sin 2y = x + c.$$

$$\boxed{\frac{1}{2y} + \frac{1}{4} \sin 2y = x + c} \quad \text{Ans}$$

$$(4) \quad y' \sin 2\pi x = \pi y \cos 2\pi x$$

$$\text{Sol:-} \quad \frac{dy}{dx} \sin 2\pi x = \pi y \cos 2\pi x.$$

$$\frac{1}{y} dy = \frac{\cos 2\pi x}{\sin 2\pi x} dx.$$

$$\int \frac{1}{y} dy = \int \cot 2\pi x dx.$$

$$\ln y = \ln |\sin x| + c.$$

$$\boxed{y = \sin x + c}$$

Ans

(5) $yy' + 36x = 0$.

Sol: $y \frac{dy}{dx} = -36x$

$$y dy = -36x dx \Rightarrow \int y dy = -36 \int x dx$$

$$\frac{y^2}{2} = -36 \left(\frac{x^2}{2} + C \right)$$

$$\frac{y^2}{2} = -\frac{36x^2}{2} - 36C$$

$$C_1 = -36C$$

$$y^2 = -36x^2 + C \Rightarrow \boxed{y^2 + 36x^2 = C} \quad \text{Ans}$$

⑥ $y' = e^{2x-1} y^2$

Sol: $\frac{dy}{dx} = e^{2x-1} y^2$

$$\frac{1}{y^2} dy = e^{2x-1} dx \Rightarrow \int \frac{1}{y^2} dy = \int e^{2x-1} dx$$

$$-\frac{1}{y} = \frac{1}{2} e^{2x-1} + C \Rightarrow \frac{1}{y} = -\frac{1}{2} e^{2x-1} + C$$

$$\boxed{y = \frac{2}{(e^{2x-1} + C)}} \quad \text{Ans}$$

47	Fazal Dad	J.S. Stenographer	13958
46	Shahab Jahan	Daftari	4965
45	Muzammil Hassan	J. Clerk	11040

Q7:- $xy' = y + 2x^3 \sin^2(y/x)$. (Set $u = y/x$)

Solution:-

$$x \frac{dy}{dx} = y + 2x^3 \sin^2(y/x) \quad (\text{Not separable})$$

$$x \frac{dy}{dx} = y + 2x^3 \sin^2(y/x) \rightarrow \textcircled{1}$$

Put $y = ux$ i.e. $u = y/x$

$$y' = u'x + u$$

eqⁿ ① =)

$$x(u'x + u) = ux + 2x^3 \sin^2(ux/x)$$

$$x^2 u' + \cancel{ux} = \cancel{ux} + 2x^3 \sin^2 u$$

$$x^2 u' = 2x^3 \sin^2 u$$

$$u' = 2x \sin^2 u$$

$$\frac{du}{dx} = 2x \sin^2 u$$

$$\frac{1}{\sin^2 u} du = 2x dx \Rightarrow \int \csc^2 u du = 2 \int x dx$$

$$\Rightarrow y/x = \arccot(x^2 + C)$$

$$y = x \cot^{-1}(x^2 + C)$$

$$-\cot u = \frac{2x^2}{2} + C$$

$$-\cot u = x^2 + C \Rightarrow \boxed{-\cot(y/x) = x^2 + C}$$

Q8:- $y' = (y+4x)^2$ Set $y+4x = u$.

Sol:- $y' = (y+4x)^2$

$$u = y+4x \Rightarrow y = u-4x$$

$$\frac{dy}{dx} = u' - 4$$

$$u' - 4 = u^2$$

$$u' = u^2 + 4$$

$$\frac{du}{dx} = (u^2 + (2)^2) \Rightarrow \frac{1}{u^2 + 2^2} du = dx$$

$$\int \frac{1}{u^2 + 2^2} du = \int dx$$

$$\therefore \int \frac{1}{1+u^2} du = \tan^{-1}(u) + C$$

$$\frac{1}{2} \tan^{-1}\left(\frac{u}{2}\right) = x + C$$

$$\tan^{-1}(u/2) = 2x + C$$

$$u/2 = \tan(2x + C)$$

$$u = 2 \tan(2x + C)$$

$$y+4x = 2 \tan(2x + C)$$

But
 $u = y+4x$

$$\boxed{y = 2 \tan(2x + C) - 4x} \text{ Ans}$$

Q9:- $xy' = y^2 + y$ Set $(y/x = u)$.

Sol:- $x \frac{dy}{dx} = y^2 + y$.

$$\frac{1}{y^2 + y} dy = \frac{1}{x} dx$$

$$\int \frac{1}{y^2 + y} dy = \int \frac{1}{x} dx \rightarrow \textcircled{A}$$

$$\frac{1}{y^2 + y} = \frac{1}{y(y+1)} = \frac{A}{y} + \frac{B}{y+1}$$

$$\frac{1}{y(y+1)} = \frac{A(y+1) + B(y)}{y(y+1)}$$

$$1 = A(y+1) + By$$

Put $y = -1$ -

$$\boxed{B = -1}$$

Put $y = 0$ $\boxed{A = 1}$

$$\frac{1}{y(y+1)} = \frac{1}{y} - \frac{1}{y+1}$$

$$\int \frac{1}{y(y+1)} = \int \frac{1}{y} dy - \int \frac{1}{y+1} dy$$

$$= \ln y - \ln y+1$$

$$= \ln \left(\frac{y}{y+1} \right)$$

using $\textcircled{A}$

$$\ln \left(\frac{y}{y+1} \right) = \ln x + c.$$

$$\frac{y}{y+1} = x + c.$$

$$\frac{y+1}{y} = \frac{1}{x+c}.$$

$$\frac{y}{y} + \frac{1}{y} = \frac{1}{x+c}.$$

$$1 + \frac{1}{y} = \frac{1}{x+c}.$$

$$\frac{1}{y} = \frac{1}{x+c} - 1.$$

$$y = \left(\frac{1}{x+c} - 1 \right)^{-1} \quad \text{Ans}$$

$$Q9:- \quad xy' = y^2 + y \longrightarrow (1)$$

$$\text{Let } u = y/x \Rightarrow y = ux.$$

$$y' = u'x + u.$$

Put in (1).

$$x(u'x + u) = (ux)^2 + ux.$$

$$\cancel{x}u' + \cancel{u}x = u^2\cancel{x}^2 + \cancel{u}x$$

$$\frac{du}{dx} = u^2 \Rightarrow \int \frac{1}{u^2} du = \int dx$$

$$-\frac{1}{u} = x + C.$$

$$\frac{1}{u} = -x + C.$$

$$u = \frac{1}{-x + C}.$$

$$y/x = \frac{1}{-x + C}.$$

$$\boxed{y = \frac{x}{-x + C}} \quad \text{Ans}$$

Q10:- $xy' = x + y$

Set $y/x = u$.

Sol:- $x \frac{dy}{dx} = x + y$

Let $u = y/x$.

$y = ux$.

$y' = u'x + u$.

$x(u'x + u) = x + ux$.

$u'x^2 + ux = x + ux$

$u'x = 1$.

$\frac{du}{dx} = \frac{1}{x} \Rightarrow \int du = \int \frac{1}{x} dx$

$u = \ln x + C$.

$y/x = \ln x + C$

$y = x \ln x + Cx$ Ans

Q = Solve IVP :-

|| $xy' + y = 0, \quad y(4) = 6$.

Sol:- $x \frac{dy}{dx} + y = 0$.

$x \frac{dy}{dx} = -y$

$$\int \frac{1}{y} dy = \int -\frac{1}{x} dx$$

$$\ln y = -\ln x + C.$$

$$\ln y + \ln x = C.$$

$$\ln(xy) = C.$$

$$yx = e^C \Rightarrow \boxed{xy = C.}$$

By putting Initial Condition.

$$y(4) = 6.$$

$$6(4) = C.$$

$$\boxed{24 = C}$$

$$xy = 24 \Rightarrow \boxed{y = 24/x} \text{ Ans}$$

$$\underline{12.} \quad y' = 1 + 4y^2. \quad y(1) = 0.$$

$$\text{Sol:} \quad \frac{dy}{dx} = 1 + 4y^2.$$

$$\frac{1}{1+(2y)^2} dy = dx.$$

$$\int \frac{1}{1+(2y)^2} dy = \int dx \rightarrow \textcircled{1}$$

$$\text{let } u = 2y.$$

$$\frac{du}{dy} = 2.$$

$$du = 2dy, \Rightarrow dy = \frac{1}{2} du.$$

By putting values in (1)

$$\frac{1}{2} \int \frac{1 du}{1+u^2} = x + C.$$

$$\frac{1}{2} \tan^{-1}(u) = x + C.$$

$$\tan^{-1}(u) = 2(x + C).$$

$$u = \tan(2(x + C)).$$

$$\because u = 2y.$$

$$2y = \tan(2(x + C)).$$

$$y = \frac{1}{2} \tan(2(x + C)).$$

$C \rightarrow (A)$

Initial condition.

$$y(1) = 0.$$

$$0 = \frac{1}{2} \tan(2(x + C)).$$

$$\tan^{-1}(0) = 2(x + C).$$

$$0 = 2x + 2C.$$

$$0 = 2(1 + C).$$

$$\boxed{C = -1}$$

$$\{(A) \Rightarrow \boxed{y = \frac{1}{2} \tan(2(x + 1))} \text{ Ans.} \Bigg|_{\text{Ans.}}$$

$$\underline{\text{Q13:-}} \quad y' \cosh^2 x = \sin^2 y. \quad y(0) = \frac{1}{2} \pi.$$

$$\underline{\text{Sol:-}} \quad \frac{dy}{dx} \cosh^2 x = \sin^2 y.$$

$$\frac{1}{\sin^2 y} dy = \frac{1}{\cosh^2 x} dx.$$

$$\int \operatorname{cosec}^2 y \, dy = \int \operatorname{sech}^2 x \, dx.$$

$$-\cot y = \tanh x + C. \rightarrow \textcircled{A}.$$

$$\text{Applying condition } y(0) = \frac{1}{2} \pi.$$

$$-\cot\left(\frac{1}{2} \pi\right) = \tanh(0) + C.$$

$$0 = 0 + C \Rightarrow \boxed{C=0}$$

$$\textcircled{A} \Rightarrow$$

$$-\cot y = \tanh x + 0.$$

$$-\cot y = \tanh x.$$

$$\cot y = -\tanh x.$$

$$\boxed{y = \cot^{-1}(-\tanh x)}$$

Ans

Q14:- $\frac{dr}{dt} = -2tr$. $r(0) = r_0$.

Sol:- $\frac{dr}{dt} = -2tr$.

$$\frac{1}{r} dr = -2t dt$$

$$\int \frac{1}{r} dr = -2 \int t dt$$

$$\ln r = -2 \frac{t^2}{2} + 2C$$

$$\ln r = -t^2 + C$$

$$r = e^{-t^2 + C} \Rightarrow r = e^{-t^2} + C \rightarrow \textcircled{A}$$

Applying Initial Condition.

$$r_0 = e^{-0} + C \Rightarrow C = r_0 - 1$$

$\therefore \textcircled{A} \Rightarrow$ $\boxed{r = e^{-t^2} + r_0 - 1}$ Ans
2

Q15:- $y' = -4n/y$ $y(2) = 3$.

Sol:- $\frac{dy}{dn} = -4n/y$.

$$y dy = -4n dn \Rightarrow \int y dy = -4 \int n dn$$

$$y^2/2 = -4 \frac{n^2}{2} + C$$

$$y^2 = 4x^2 + C \quad \text{--- (1)}$$

$$y(2) = 3$$

$$(3)^2 = 4(2)^2 + C$$

$$9 = -16 + C$$

$$\boxed{C = 25}$$

$$\text{Q1} \Rightarrow \boxed{y^2 = 4x^2 + 25} \quad \text{Ans}$$

Q16:- $y' = (x+y-2)^2$, $y(0)=2$ Set $u = x+y-2$.

Sol:- $\frac{dy}{dx} = (x+y-2)^2$

let $x+y-2 = u$.

$$1 + \frac{dy}{dx} = u'$$

$$\frac{dy}{dx} = u' - 1$$

$$u' - 1 = u^2$$

$$\frac{du}{dx} = u^2 + 1 \Rightarrow \int \frac{1}{u^2 + 1} du = \int dx$$

$$\tan^{-1}(u) = x + C$$

$$u = \tan(x+C)$$

$$x+y-2 = \tan(x+c) \rightarrow \textcircled{A}$$

$$\tan^{-1}(x+y-2) = x+c$$

Apply Condition ($y(0) = 2$)

$$\tan^{-1}(0+2-2) = 0+c$$

$$\boxed{c=0}$$

$\textcircled{A} \Rightarrow$

$$x+y-2 = \tan(x)$$

$$\boxed{y = \tan x - x + 2} \quad \text{Ans}$$

Q17:- $xy' = y + 3x^4 \cos^2(y/x) \quad y(1)=0 \quad \text{Set } y/x = u$

Sol:- $x \frac{dy}{dx} = y + 3x^4 \cos^2(y/x)$

Let $u = y/x \Rightarrow y = ux$

$$\frac{dy}{dx} = u'x + u$$

$$x(u'x + u) = ux + 3x^4 \cos^2(u)$$

$$u'x^2 + \cancel{ux} = \cancel{ux} + 3x^4 \cos^2(u)$$

$$u' = 3x^2 \cos^2 u$$

$$\frac{du}{dx} = 3x^2 \cos^2 u$$

$$\int \frac{1}{\cos^2 u} du = \int 3x^2 dx.$$

~~case~~

$$\int \sec^2 u du = 3 \int x^2 dx.$$

$$\tan^4 = x^3 + C.$$

$$\tan u = x^3 + C \Rightarrow u = \tan^{-1}(x^3 + C).$$

$$y/x = \tan^{-1}(x^3 + C).$$

$$y/x = \tan^{-1}(x^3 + C) \rightarrow \textcircled{A}.$$

To find $C = ?$

$$\tan(y/x) = x^3 + C.$$

Apply Initial Condition i.e. $y(1) = 0$.

$$0 = 1 + C \Rightarrow \boxed{C = -1}$$

q. (A) $\Rightarrow$

$$y/x = \tan^{-1}(x^3 - 1).$$

$$\boxed{y = x \tan^{-1}(x^3 - 1)} \quad \underline{\underline{\text{Ans}}}$$